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Chapter 11 Principles of Consolidation

Answer 1

To : Mr. Yan, Director of CCN

From : Peter Wong, Accounting Manager, CCN

c.c. : Jacky Lam, Alex Cheng, Nelson Chan (Directors)

Date : dd/mm/yyyy

Subject : Consolidated financial statements of CCN as at 31 March 2010

I refer to your e-mail dated 8 May 2010 regarding your queries about the draft consolidated financial statements of CCN as at 31 March 2010.
(a)

Indefinite useful life

HKAS 38 requires an entity to assess whether the useful life of an intangible asset is finite or indefinite. An intangible asset shall be regarded as having an indefinite useful life when, based on an analysis of all of the relevant factors, there is no foreseeable limit to the period over which the asset is expected to generate net cash inflows for the entity.
It should be noted that the term “indefinite” does not mean “infinite”. The useful life reflects only that level of future maintenance expenditure required to maintain the brand at its standard of performance assessed at the time of estimating the brand's useful life, and CCN’s ability and intention to reach such a level.
In this case, Yeh-yeh is well-known internationally with a long history. The technology related to the product does not change rapidly. Besides, CCN has the history and experience to manage a brand as well as an intention and ability to manage Yeh-yeh. Thus the brand name was classified as having an indefinite useful life.
Value remain unchanged forever

The accounting for an intangible asset is based on its useful life. An intangible asset with a finite useful life is amortised, and an intangible asset with an indefinite useful life is not.
Although an intangible asset with an indefinite useful life shall not be amortised, its value may not be kept unchanged forever. In fact, the value of the brand name may change when there is:
(a)
a change in the useful life assessment; or

(b)
an indication of impairment.
In accordance with HKAS 36, CCN is required to test the brand name, being an intangible asset with an indefinite useful life, for impairment by comparing its recoverable amount with its carrying amount

(a)
annually, and

(b)
whenever there is an indication that the brand name may be impaired.
The useful life of this brand name, that is not being amortised, shall be reviewed each period to determine whether events and circumstances continue to support an indefinite useful life assessment.
If they do not, the change in the useful life assessment from indefinite to finite shall be accounted for as a change in an accounting estimate in accordance with HKAS 8.
In accordance with HKAS 36, reassessing the useful life of an intangible asset as finite rather than indefinite is an indicator that the asset may be impaired. As a result, CCN would have to test the asset for impairment if there is a change in the useful life assessment from indefinite to finite.
Also, the brand name shall be derecognised:

(a)
on disposal; or

(b)
when no future economic benefits are expected from its use or disposal.

Thus the value of the brand name may not be kept unchanged forever.
(b)

Contingent consideration

HKFRS 3 (Revised) Business Combinations requires the consideration transferred in a business combination (including any contingent consideration) to be measured at fair value.
Para. 4 of HKFRS 4 Insurance Contracts states that an entity should not apply HKFRS 4 to contingent consideration payable or receivable in a business combination.
Para. 39 of HKFRS 3 (Revised) requires the consideration the acquirer transfers in exchange for the acquiree to include any asset or liability resulting from a contingent consideration arrangement. Thus, on 1 April 2009, CCN should recognise the acquisition-date fair value of contingent consideration (i.e. $400,000) as part of the consideration transferred in exchange for KKP.
According to para. 11 of HKAS 32 Financial Instrument: Presentation, CCN should classify this obligation to pay contingent consideration as a financial liability since it is a contractual obligation to deliver cash.
Para. 58 of HKFRS 3 (Revised) states that some changes in the fair value of contingent consideration that the acquirer recognises after the acquisition date may be the result of additional information that the acquirer obtained after that date about facts and circumstances that existed at the acquisition date. Such changes are measurement period adjustments.
During the measurement period, the acquirer shall retrospectively adjust the provisional amounts recognised at the acquisition date to reflect new information obtained about facts and circumstances that existed as of the acquisition date and, if known, would have affected the measurement of the amounts recognised as of that date.
However, a change resulting from an event after the acquisition date, in this case, reaching a specified share price, is not a measurement period adjustment.
Being not a measurement period adjustment, this contingent consideration classified as a financial liability should be measured at fair value, with any resulting gain or loss recognised in profit or loss, i.e.
	
	Dr. ($)
	Cr. ($)

	Loss on remeasurement of contingent consideration
	1,100,000
	

	Contingent consideration
	
	1,100,000

	Being remeasurement of contingent consideration from $400,000 to $1,500,000


The additional $1,500,000 cash paid will clear and settle this remeasured value of contingent consideration and thus it will not result in an adjustment of acquisition cost, i.e.
	
	Dr. ($)
	Cr. ($)

	Contingent consideration
	1,500,000
	

	Cash
	
	1,500,000

	Being settlement by paying $1,500,000 in cash


(c)

Contingent liability

HKAS 37 Provisions, Contingent Liabilities and Contingent Assets defines a contingent liability as:

(a)
a possible obligation that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the entity; or
(b)
a present obligation that arises from past events but is not recognised because:

(i)
it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation; or

(ii)
the amount of the obligation cannot be measured with sufficient reliability.
However, para. 23 of HKFRS 3 specifies that the requirements in HKAS 37 do not apply in determining which contingent liabilities to recognise as of the acquisition date.
Instead, the acquirer shall recognise as of the acquisition date a contingent liability assumed in a business combination if it is a present obligation that arises from past events and its fair value can be measured reliably.
Therefore, contrary to HKAS 37, the acquirer recognises a contingent liability assumed in a business combination at the acquisition date even if it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation.
In this case, even though the lawyer has pointed out that the chance of loss is not probable, CCN has to recognise the contingent liability as it is present obligation that arises from a past event and its fair value can be measured reliably.
Calculation of goodwill

	Consideration transferred:
	$

	2,000,000 shares at $10
	20,000,000

	Fair value of contingent consideration
	400,000

	Cash
	6,000,000

	
	26,400,000

	Fair value of NCI
	2,200,000

	
	28,600,000

	Less: Fair value of identifiable net assets (W1)
	20,406,400

	Goodwill
	8,193,600


W1
	
	Book value
	Fair value
	Fair value difference

	
	$
	$
	$

	Plant and equipment
	12,000,000
	16,800,000
	4,800,000

	Intangible asset
	-
	6,000,000
	6,000,000

	Inventory
	500,000
	750,000
	250,000

	Accounts receivable
	200,000
	200,000
	-

	Cash
	10,000
	10,000
	-

	
	12,710,000
	23,760,000
	11,050,000

	Accounts payable
	(1,510,000)
	(1,510,000)
	-

	Contingent liabilities
	-
	(90,000)
	(90,000)

	Total identifiable net assets
	11,200,000
	22,160,000
	10,960,000

	
	
	
	

	Deferred tax of FV differences
	
	
	

	(10,960,000 × 16%)
	
	(1,753,600)
	1,753,600

	Fair value of identifiable net assets
	
	20,406,400
	


I hope the above explanation has answered your questions. For the details, please refer to the annex. Please feel free to contact me if you have further queries.
Best regards,
Peter Wong
(d)
[image: image1.emf]
(Journal entries are not required by the question)

Consolidation adjustments for the year ended 31 March 2010
(a) Elimination entry as at 1 April 2009 (for calculation of goodwill)
	
	Dr. ($)
	Cr. ($)

	Share capital 
	10,000,000
	

	Retained earnings (pre-acquisition)
	1,200,000
	

	Plant and equipment (fair value adjustment)
	4,800,000
	

	Intangible asset (fair value adjustment)
	6,000,000
	

	Inventory
	250,000
	

	Goodwill (bal. fig.)
	8,193,600
	

	Contingent liabilities
	
	90,000

	Deferred tax liability
	
	1,753,600

	Investment in S
	
	26,400,000

	Non-controlling interest
	
	2,200,000


(b) Additional depreciation (KKP) of plant and equipment for fair value adjustment
	
	Dr. ($)
	Cr. ($)

	Depreciation ($4.8m / 10 years)
	480,000
	

	Accumulated depreciation
	
	480,000


(c) Tax effects on additional depreciation in (b) above
	
	Dr. ($)
	Cr. ($)

	Deferred tax liability ($480,000 × 16%)
	76,800
	

	Tax expense
	
	76,800


(d) Sale of revalued inventory
	
	Dr. ($)
	Cr. ($)

	Cost of sales ($250,000 × 90%)
	225,000
	

	Inventory
	
	225,000


(e) Tax effects of sale of revalued inventory in (d) above
	
	Dr. ($)
	Cr. ($)

	Deferred tax liability ($225,000 × 16%)
	36,000
	

	Tax expense
	
	36,000


(f) Goodwill impairment for 2010
	
	Dr. ($)
	Cr. ($)

	Goodwill impairment loss ($8,193,600 × 10%)
	819,360
	

	Goodwill
	
	819,360


(g) Elimination of intragroup sales and unrealized profit
	
	Dr. ($)
	Cr. ($)

	Sales
	4,800,000
	

	Cost of sales ($4,800,000 – $640,000)
	
	4,160,000

	Inventory [(4,800,000 – 3,200,000) × 40%]
	
	640,000


Or

	
	Dr. ($)
	Cr. ($)

	Unrealised profit
	640,000
	

	Inventory [(4,800,000 – 3,200,000) × 40%]
	
	640,000


(h) Tax effects of intragroup sales

	
	Dr. ($)
	Cr. ($)

	Deferred tax asset ($640,000 × 16%)
	102,400
	

	Tax expense
	
	102,400


(h) Share of profit/(loss) to NCI for 2010
	
	Dr. ($)
	Cr. ($)

	NCI (W2)
	114,916
	

	Retained earnings
	
	114,916


W2 Share of loss to NCI and reconciliation

[image: image2.emf]
Alternative answer
W1 Shareholdings

	Group
	90%

	NCI
	10%

	
	100%


W2 Fair value of net assets of subsidiary at acquisition date

	
	Book value
	Fair value
	Fair value difference

	
	$
	$
	$

	Plant and equipment
	12,000,000
	16,800,000
	4,800,000

	Intangible asset
	-
	6,000,000
	6,000,000

	Inventory
	500,000
	750,000
	250,000

	Accounts receivable
	200,000
	200,000
	-

	Cash
	10,000
	10,000
	-

	
	12,710,000
	23,760,000
	11,050,000

	Accounts payable
	(1,510,000)
	(1,510,000)
	-

	Contingent liabilities
	-
	(90,000)
	(90,000)

	Total identifiable net assets
	11,200,000
	22,160,000
	10,960,000

	
	
	
	

	Deferred tax of FV differences
	
	
	

	(10,960,000 × 16%)
	
	(1,753,600)
	1,753,600

	Fair value of identifiable net assets
	
	20,406,400
	


W3 Additional depreciation

	
	Dr. ($)
	Cr. ($)

	Depreciation (4.8m/10 years)
	480,000
	

	Accumulated depreciation
	
	480,000


Tax effect on additional depreciation

	
	Dr. ($)
	Cr. ($)

	Deferred tax liability (480,000 × 16%)
	76,800
	

	Tax expense
	
	76,800


W4 Goodwill

	
	$

	Cost of investment
	26,400,000

	Fair value of NCI
	2,200,000

	
	28,600,000

	Less: Fair value of subsidiary at acquisition date (W2)
	(20,406,400)

	Goodwill
	8,193,600

	Less: Impairment (10%)
	(819,360)

	
	7,374,240


	
	Dr. ($)
	Cr. ($)

	Consolidated retained earnings (819,360 × 90%)
	737,424
	

	NCI
	81,936
	

	Goodwill
	
	819,360


W5 Sale of revalued inventory

	
	Dr. ($)
	Cr. ($)

	Cost of sales (250,000 × 90%)
	225,000
	

	Inventory
	
	225,000


W6 Tax effect on sale of revalued inventory

	
	Dr. ($)
	Cr. ($)

	Deferred tax liability (225,000 × 16%)
	36,000
	

	Tax expense
	
	36,000


W7 Unrealised profits in sale of inventory (KKP to CCN)
= (4.8m – 3.2m) × 40% = $640,000
	
	Dr. ($)
	Cr. ($)

	Retained earnings – KKP
	640,000
	

	Consolidated inventory
	
	640,000


W8 Tax effect on intragroup sale of inventory

	
	Dr. ($)
	Cr. ($)

	Deferred tax assets (640,000 × 16%)
	102,400
	

	Tax expense
	
	102,400


W9 Consolidated retained earnings

	
	CCN
	KKP

	
	$
	$

	Per question
	56,000,000
	2,000,000

	Less: Pre-acquisition retained earnings
	
	(1,200,000)

	
	
	800,000

	Less: Additional depreciation (W3)
	
	(480,000)

	Add: Tax effect on additional depreciation (W3)
	
	76,800

	Less: Goodwill impairment (W4)
	(737,424)
	

	Less: Sale of revalued inventory (W5)
	
	(225,000)

	Add: Tax effect on sale of revalued inventory (W6)
	
	36,000

	Less: Unrealised profit in inventory (W7)
	
	(640,000)

	Add: Tax effect on intragroup sale of inventory (W8)
	
	102,400

	
	
	(329,800)

	Add: Share of KKP post-acquisition retained earnings
	
	

	(329,800 × 90%)
	(296,820)
	

	
	54,965,756
	


W10 Non-controlling interest
	
	KKP

	
	$

	Fair value at acquisition date
	2,200,000

	Goodwill impairment (W4)
	(81,936)

	Share of post acquisition retained earnings

(329,800 × 10%)
	(32,980)

	
	2,085,084


Answer 2

To : Ms. Pindy Lee, Director of APE

From : Charmaine Yuen, Accounting Manager

Date : dd/mm/yyyy

Subject : Various investments, bankrupt customer and consolidated financial statements of APE
I refer to your queries regarding the various investments and the bankrupt customer and their impact on the consolidated financial statements of APE.
(a)
Applicable financial reporting standard

The arrangement for the investment in DPE has three parties: APE has 60% of the voting rights in DPE, BPE has 20% and CPE has 20%. The contractual arrangement among APE, BPE and CPE specifies that at least 90% of the voting rights are required to make decisions about the relevant activities of DPE. Even though APE can block any decision, APE cannot control DPE because it needs the agreement of both BPE and CPE.
Since we cannot control DPE, it is not a subsidiary of APE.
The terms of the contractual arrangement requiring at least 90% of the voting rights to make decisions about the relevant activities imply that APE, BPE and CPE have joint control of DPE because decisions about the relevant activities of DPE cannot be made without APE, BPE and CPE agreeing. Thus it has implicitly specified that APE, BPE and CPE are required to agree unanimously to decisions about the relevant activities of the arrangement.
HKFRS 11 defines joint control as the contractually agreed sharing of control of an arrangement, which exists only when decisions about the relevant activities (i.e. activities that significantly affect the returns of the arrangement) require the unanimous consent of the parties sharing control.
In this case, DPE shall be considered as a joint arrangement as it is an arrangement of which two or more parties have joint control. The agreement sets up the terms under which APE, BPE and CPE conduct the manufacturing and distribution of HDPE. These activities are undertaken through joint arrangements whose purpose is either the manufacturing or the distribution of HDPE.
Therefore, HKFRS 11 Joint Arrangements is to be applied by all entities (APE, BPE and CPE) that are a party to this joint arrangement.
General principles

HKFRS 11 requires a party to a joint arrangement to determine the type of joint arrangement in which it is involved by assessing its rights and obligations arising from the arrangement.
HKFRS 11 classifies joint arrangements into two types - joint operations and joint ventures. APE should determine the type of joint arrangement in which it is involved by considering its rights and obligations.
Diadema Polyethylene (DPE)

APE, BPE and CPE carry out the manufacturing and distribution activities through DPE, whose legal form confers separation between the parties and the entity.
In addition, the contractual arrangement dealing with the manufacturing and distribution activity did not specify that the parties have rights to the assets, and obligations for the liabilities, relating to DPE.
There are no contractual arrangements and no other facts and circumstances that indicate that the parties have rights to substantially all the economic benefits of the assets relating to DPE or that the parties have an obligation for the liabilities relating to that arrangement. DPE is a joint venture.
A joint venture is defined in HKFRS 11 as a joint arrangement whereby the parties that have joint control of the arrangement (i.e. APE, BPE and CPE as joint venturers) have rights to the net assets of the arrangement.
HKFRS 11 requires a joint venturer to recognise an investment and to account for that investment using the equity method in accordance with HKAS 28 Investments in Associates and Joint Ventures, unless the entity is exempted from applying the equity method as specified in that standard.
Therefore, the parties (APE, BPE and CPE) should recognise their rights to the net assets of DPE as investments in Joint Ventures and account for them using the equity method.
(b)

Bankrupt customer

HKAS 10 Events after the Reporting Period defines events after the reporting period as those events, favourable and unfavourable, that occur between the end of the reporting period and the date when the financial statements are authorised for issue.
Two types of events can be identified:

· those that provide evidence of conditions that existed at the end of the reporting period (adjusting events after the reporting period); and

· those that are indicative of conditions that arose after the reporting period (non-adjusting events after the reporting period).
HKAS 10 specifies that the receipt of information after the reporting period indicating that an asset was impaired at the end of the reporting period is an adjusting event after the reporting period that requires an entity to adjust the amounts recognised in its financial statements.
The bankruptcy of a customer that occurs after the reporting period usually confirms that a loss existed at the end of the reporting period on an accounts receivable and therefore APE needs to adjust the carrying amount of the accounts receivable. Therefore, it is an adjusting event.
On the basis of this objective evidence about the existence of impairment in the account receivable, APE should recognise the impairment (bad debt) losses for the year ended 31 March 2012.
	
	Dr. ($)
	Cr. ($)

	Other expenses (impairment)
	650,000
	

	Receivables
	
	650,000


I hope the above explanation has answered your questions. For further details, please refer to the annex. Please feel free to contact me if you have further queries.
Best regards,
Charmaine Yuen
(c)(i)
APE – Worksheet for the Consolidated Statement of Comprehensive Income for the year ended 31 March 2012
[image: image3.emf]Consolidated adj.

APE EPE Ref. Consolidated

$000 $000 $000 $000

Sales 80,000      35,750      (9,000)       106,750           

Cost of sales (55,000)     (24,500)     7,950        (71,550)            

25,000      11,250      (1,050)       35,200             

Other income 3,700        -           (1,000)       2,700               

Depreciation expense (8,000)       (1,700)       (500)          (2,500 / 5 years) (10,200)            

Interest expense (5,900)       (1,600)       (7,500)              

Other expenses (3,800)       (4,200)       (650)          Impairment 1(c) (8,650)              

Share of profits of FPE

(2,200 x 30%) - 480 180                  

Profit for the year 36,000      15,000      11,730             

Profit attributable to:

Owners of the parent 11,290             

Non-controlling interest (20%) 440                  

(11,250 - 1,050 - 1,700 - 500 - 1,600 - 4,200) x 20% 11,730             


W1 Calculation of goodwill

	
	$000
	$000

	Consideration – investment in EPE
	
	26,550

	Fair value of NCI
	
	6,000

	
	
	32,550

	Fair value of net assets of EPE at acq. Date
	
	

	Share capital
	15,000
	

	Pre-acq. Retained earnings
	12,250
	

	Fair value adjustment – equipment
	2,500
	29,750

	Goodwill
	
	2,800


W2 Elimination of investment in EPE

	
	Dr. ($000)
	Cr. ($000)

	Share capital
	15,000
	

	Retained earnings
	12,250
	

	Plant and equipment
	2,500
	

	Goodwill (bal. fig.)
	2,800
	

	Investment in EPE
	
	26,550

	Non-controlling interests (BS)
	
	6,000


W3 Additional depreciation for FV adjustments of equipment – EPE

	
	Dr. ($000)
	Cr. ($000)

	Retained earnings – EPE (2,500 × 3/5)
	1,500
	

	Accumulated depreciation
	
	1,500


W4 Unrealised profit in inventory (EPE sold to APE)

	
	Dr. ($000)
	Cr. ($000)

	Retained earnings – EPE [(9m – 6m) × 35%]
	1,050
	

	Consolidated inventory
	
	1,050


W5 Unrealised profit in sale of plant and equipment (APE sold to FPE)

	
	Dr. ($000)
	Cr. ($000)

	Retained earnings – FPE [(10m – 8m) × 4/5 × 30%]
	480
	

	Investment in FPE (associate)
	
	480


W6 Consolidated retained earnings
	
	APE
	EPE
	FPE

	
	$000
	$000
	$000

	Per BS
	51,500
	25,000
	13,450

	Less: Pre-acq. retained earnings
	
	(12,250)
	(11,250)

	
	
	12,750
	2,200

	Less: Additional depreciation (W3)
	
	(1,500)
	

	Less: Unrealised profit in inventory (W4)
	
	(1,050)
	

	Less: Unrealised profit in sale of PPE (W5)
	
	
	(1,600)

	
	
	10,200
	600

	Less: Receivable impairment [1(c)]
	(650)
	
	

	Share of post-acq. retained earnings
- EPE (10,200 × 80%)
	8,160
	
	

	- FPE (600 × 30%)
	180
	
	

	
	59,190
	
	


W7 Non-controlling interest
	
	$000

	Fair value at acquisition date
	6,000

	Share of post acquisition retained earnings (10,200 × 20%)
	2,040

	
	8,040


W8 Investment in associate (FPE)
	
	$000

	Investment in FPE, cost
	7,450

	Share of post acquisition retained earnings
	180

	
	7,630


(c)(ii)

APE – worksheet for the consolidated statement of financial position as at 31 March 2012
[image: image4.emf]APE EPE Consolidated adjustments Ref. Consolidated

PPE 43,000            19,000            2,500            (1,500)             W2 & W3 63,000            

Goodwill 2,800              

Investment in associate 7,630              

Other investments 20,750            1,250              22,000            

Inventory 41,250            20,000            (1,050)             W4 60,200            

Receivables 10,000            11,000            (650)                1(c) 20,350            

Cash and cash equivalent 7,500              8,750              16,250            

192,230          

Share capital 30,000            15,000            (15,000)        W1 30,000            

Retained earnings 51,500            25,000            W6 59,190            

NCI W7 8,040              

Payables 75,000            20,000            95,000            

192,230          


(c)(iii)
[image: image5.emf]Non-

Share Retained controlling Total

Capital earnings Total interest equity

$000 $000 $000 $000 $000

Balance at 1 April 2011 30,000          51,400          81,400          7,850         89,250         

(bal. fig.) (bal. fig.)

Changes in equity

Dividends declared (3,500)          (3,500)          (3,500)         

Dividends paid to NCI (250)           (250)            

Total comprehensive income

for the year 11,290          11,290          440            11,730         

30,000          59,190          89,190          8,040         97,230         


Answer 3
To: Ms. Janice Lam, Director of DBL

From: Raymond Wong, Accounting Manager, DBL

c.c.: Lucas Chong, Josiah Wong, Andrea Cheung (Directors)

Date: dd/mm/yyyy

Subject: Condensed consolidated financial statements of DBL for the six months ended 31 March 2012

I refer to your e-mail dated 7 May 2012 regarding your queries about the draft condensed consolidated financial statements of DBL for the six months ended 31 March 2012.
(a)

Compliance with HKFRS

HKAS 34.19 specifies that if an entity’s interim financial report is in compliance with HKAS 34, that fact shall be disclosed.

However, an interim financial report shall not be described as complying with HKFRSs unless it complies with all the requirements of HKFRSs.

Condensed financial statements do not comply with all the requirements of HKFRSs.

Therefore DBL’s interim financial report cannot be described as complying with HKFRSs.

(b)

Segment information

In accordance with HKAS 34.16A(g), disclosure of segment information is required in an entity's interim financial report only if HKFRS 8 Operating Segments requires that entity to disclose segment information in its annual financial statements.

HKFRS 8 applies to the separate financial statements of an entity (HKFRS 8.2(a)(i)) and the consolidated financial statements of a group with a parent (HKFRS 8.2(b)(i)) whose equity instruments are traded in a public market. As DBL is listed on the Main Board of the Stock Exchange of Hong Kong, segment information is required to be disclosed.

Therefore, DBL should disclose the relevant segment information under the HKAS 34.16A(g) in its interim financial report since HKFRS 8 Operating Segments does require DBL to disclose segment information in its annual financial statements.

(c)
Related party relationship

HKAS 24 (Revised) defines a related party as a person or entity that is related to the entity that is preparing its financial statements.

A person is related to a reporting entity if that person is a member of the key management personnel of the reporting entity or of a parent of the reporting entity (HKAS 24.9(a)(iii)).

Key management personnel are those persons having authority and responsibility for planning, directing and controlling the activities of the entity, directly or indirectly, including any director (whether executive or otherwise) of that entity.

As you (Janice) are the director of DBL, you are a related party of DBL (key management personnel) and STF (key personnel of the parent of STF) pursuant to HKAS 24.9(a)).

DBL and STF are related parties to each other according to HKAS 24.9(b)(i) since they are members of the same group. In addition, for financial statements of both DBL and STF, BTV is a related party as BTV is controlled by you (Janice), who is a related party falling into the scope of HKAS 24.9(a) (HKAS 24.9(b)(vi)).

For BTV’s financial statements, DBL and STF are related parties to BTV because BTV is controlled by you and you are a key management personnel of DBL which is the parent of STF (HKAS 24.9(b)(vii) and (a)(i)).
(d)

Contract with FYL

The contract with FYL meets the definition of a derivative (HKFRS 9) because its value changes in response to changes in an underlying variable (HIBOR), there is no initial net investment, and settlements occur at future dates.

The contractual effect of the loans is the equivalent of an interest rate swap arrangement with no initial net investment. Therefore, it should be accounted for as a derivative under HKFRS 9.

Guidance on implementing HKFRS 9 Financial Instruments specifies that non-derivative transactions should be aggregated and treated as a derivative when the transactions result, in substance, in a derivative.
Indicators of this would include:

· they are entered into at the same time and in contemplation of one another.

· they have the same counterparty.

· they relate to the same risk.

· there is no apparent economic need or substantive business purpose for structuring the transactions separately that could not also have been accomplished in a single transaction.

Under HKFRS 9, DBL should recognise the derivative as a financial asset or a financial liability in its statement of financial position when, and only when, DBL becomes party to the contractual provisions of the instrument.

The default assumption with regard to derivatives under HKFRS 9 is that they are to be measured at fair value with changes in fair value taken to profit and loss.

I hope the above explanation has answered your questions. For the details, please refer to the annex. Please feel free to contact me if you have further queries.

Best regards,

Raymond Wong
(e)
W1 Group structure

[image: image6.emf]DBL

70%

1.10.08

STF

Group 70%

NCI 30%

100%


W2 Fair value of net assets of subsidiary at acquisition date

[image: image7.emf]STF

$000

Share capital 480,000         

Retained earnings 350,000         

Revaluation reserve 10,000           

Fair value adjustment - intangible assets 80,000           

(120m - 40m)

920,000         

Deferred tax liability (W3) (13,200)         

906,800         


W3 Deferred tax effect on fair value adjustment – intangible assets
[image: image8.emf]Dr. Cr.

$000 $000

Cost of control (80m x 16.5%) 13,200         

Deferred tax liability 13,200         


W4 Past and current amortization on revalued intangible assets

[image: image9.emf]Dr. Cr.

$000 $000

Opening retained earnings - STF ($80m / 8 x 3) 30,000         

Amortisation - STF ($80m / 8 x 0.5) 5,000           

Accumulated amortisation 35,000         


W5 Tax effect on revalued intangible assets

[image: image10.emf]Dr. Cr.

$000 $000

Deferred tax liability  (35,000 x 16.5%) 5,775           

Opening retained earnings - STF (30,000 x 16.5%) 4,950           

Retained earnings (current) - tax expense (5,000 x 16.5%) 825              


W6 Goodwill
[image: image11.emf]STF

$000

Cost of investment 768,000         

Non-controlling interest ($906.8m x 30%) 272,040         

1,040,040      

Less: Fair value of net assets at acquisition date (906,800)       

Goodwill 133,240         


W7 Realisation of beginning unrealized profit in inventory
[image: image12.emf]Dr. Cr.

$000 $000

Opening retained earnings - STF ($36m - $24m) 12,000         

Cost of sales/retained earnings 12,000         


W8 Tax effect on realization of beginning unrealized profit in inventory
[image: image13.emf]Dr. Cr.

$000 $000

Retained earnings (current) - STF - tax expense ($12m x 16.5%) 1,980           

Opening retained earnings - STF 1,980           


W9 Elimination of interco sale of inventory – STF

= ($144m – $96m) × 35% = 16.8m
[image: image14.emf]Dr. Cr.

$000 $000

Sales 144,000       

Cost of sales 144,000       

Cost of sales 16,800         

Inventory 16,800         


W10 Tax effect on unrealized profit of intercompany sale

[image: image15.emf]Dr. Cr.

$000 $000

Deferred tax asset ($16.8m x 16.5%) 2,772           

Retained earnings (current) - STF - tax expense 2,772           


W11 Elimination of dividend income

[image: image16.emf]Dr. Cr.

$000 $000

Dividend income - DBL ($48m x 70%) 33,600         

NCI 14,400         

Dividends declared 48,000         


W12 Consolidated retained earnings
[image: image17.emf]DBL STF

$000 $000

Per question 1,380,000          750,000         

Less: Pre-acquisition retained earnings (350,000)       

400,000         

Less: Amortisation on revalued intangible assets

(30,000 + 5,000) (W4) (35,000)         

Add: Tax effect on revalued intangible assets (W5) 5,775             

Less: Elimination of interco sale of inventory (W9) (16,800)         

Add: Tax effect on unrealised profit (W10) 2,772             

356,747         

Share of post-acquisition retained earnings

- STF (356,747 x 70%) 249,723            

1,629,723         


W13 Revaluation surplus
[image: image18.emf]DBL STF

$000 $000

Per question 300,000             66,000           

Less: Pre-acquisition (W2) (10,000)         

56,000           

Share of post-acquisition revaluation surplus

- STF (56,000 x 70%) 39,200              

339,200            


W14 Non-controlling interest

[image: image19.emf]STF

$000

Fair value at acquisition date (W6) 272,040            

Share of post-acquisition retained earnings

(356,747 x 30%) 107,024            

Share of post-acquisition revaluation surplus

(56,000 x 30%) 16,800              

395,864            


Consolidated statement of profit or loss account and other comprehensive income for the six months ended 31 March 2012
[image: image20.emf]DBL STF AdjustmentsWorkings Consolidated

$000 $000 $000 $000

Sales 2,400,000           1,152,000          (144,000)      W9 3,408,000      

Cost of sales (1,536,000)          (769,000)            127,200       W9 (2,177,800)     

864,000              383,000             1,230,200      

(16,800)              W9

12,000               W7 12,000           

Gross profit 1,242,200      

Other income 38,000               

Elimination of interco dividend (33,600)               W11 4,400             

Distribution cost (90,000)               (69,000)              (159,000)        

Administrative expenses (150,000)             (75,000)             

(5,000)                W4 (230,000)        

Finance costs (172,000)             (34,000)              (206,000)        

Profit before tax 456,400              195,200             651,600         

Income tax expense (106,000)             (61,000)             

825                    W5

(1,980)                W8

2,772                 W10 (165,383)        

Profit for the period 350,400              135,817             486,217         

Other comprehensive income

Revaluation surplus 180,000              36,000               216,000         

Total comprehensive income 530,400              171,817             702,217         

Profit attributable to:

Owners of parent (350,400 + 135,817 x 70%) 445,472         

Non-controlling interest (135,817 x 30%) 40,745           

486,217         

Total comprehensive income attributable to:

Owners of the parent (530,400 + 171,817 x 70%) 650,672         

Non-controlling interest (171,817 x 30%) 51,545           

702,217         


Consolidated statement of financial position as at 31 March 2012
[image: image21.emf]$000

Non-current assets

Property, plant and equipment (1,824,000 + 788,000) 2,612,000         

Goodwill (W6) 133,240            

Other intangible assets (136,000 + 80,000 (W2) - 35,000 (W4)) 181,000            

Deferred tax assets (W10) 2,772                

2,929,012         

Current assets

Inventory (1,536,000 + 648,000 - 16,800 (W9)) 2,167,200         

Receivables (750,000 + 420,000) 1,170,000         

Cash and cash equivalent (690,000 + 312,000) 1,002,000         

4,339,200         

Total assets 7,268,212         

Equity and liabilities

Equity  

Share capital 960,000            

Retained earnings (W12) 1,629,723         

Revaluation surplus (W13) 339,200            

2,928,923         

Non-controlling interest (W14) 395,864            

3,324,787         

Non-current liabilities

Long term loan (1,500,000 + 600,000) 2,100,000         

Deferred tax liability (13,200 (W3) - 5,775 (W5)) 7,425                

Current liabilities

Trade and other payables (1,428,000 + 408,000) 1,836,000         

7,268,212         
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